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a L$b ∫ 3x + 1

x3
− 4x

dx
a LSL$b ∫ x5

− 6x3 + 2x2 + 5

x3 + 3x2
− x − 3

dx
a LSLSL$b ∫ dx

x3(x2 + 1)2

a LSR�b ∫ cot x

sinα x
dx

a R:b ∫ e2x

√

ex
− 1

dx
a R�L$b ∫ √

x

1 + x
√

x
dx

a R�LSL$b ∫ cos lnxn

x
dx

a R�LSLSL$b ∫ 1

ex + e−x
dx

a Ldc�b ∫
e−x

2+ln xdx
a c�b ∫ dx

sinx cos x
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a L$b
F (x) =

∫
3x

2x
cos2 t dt

a LSL$b
F (x) =

∫ √

x

0
et

2

dt
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F (x) =

∫
x

2

(1 −
sin2 t

t2
) dt
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a L$bsPk^yxzOQ[�OQ\WOQ[:Lk^.{

a LSL$bhM]\�^#|:LSPSLSUWTlMWT�}I^yt:Z:[2\]L~m.L��ITjMWM�OnLS[
(0, π) �
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